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\begin{figure} [htbp]

\begin{center}

\includegraphics [width=0.7\linewidth]{eps/graphic_data.eps}
\end{center}

\caption{O O}

\label{fig: :graphic}

\end{figure}

(a)circle (b)triangle  (c)quadrangle
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0 1: Problem Instance.
Problem ‘ N w w o(w)
tai7ba 75 1445 1834 2429
tai75b 75 1679 198.7 2734
tail00a | 100 1409 152.0 201.5
tail50a | 150 1544 145.54 200.7
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\begin{table} [tbp]

\begin{center}

\caption{Problem Instance.}

\label{tb: :example}
\begin{tabular}{ccccc}

\hline

Problem & $N$ & $W$ & $\bar{w}$ & $\sigma (w)$\\
\hline \hline

tai7ba & 75 & 1445 & 183.4 & 242.9\\
tai75b & 75 & 1679 & 198.7 & 273.4\\
tailOOa & 100 & 1409 & 152.0 & 201.5\\
tailbOa & 150 & 1544 & 145.54 & 200.7\\
\hline

\end{tabular}

\end{center}

\end{table}
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\begin{equation} O \end{equation}O OO O0OQO
0000 \begin{equation} \cfrac{b_{2}}{a"2}\le 0 \end{equation}d 00O DO0O0O
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\begin{egnarray*} 0 1 \\ O 2 \end{eqnarrayx}00 0000
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gooooooooooooopoooooo

ba
— <0

a?~
axb>10
gooobobobobooooooobobo
\begin{eqnarray} O 1 \\ O 2 \end{eqnarray}d0 00000
0000 \begin{egnarray} \cfrac{b_{2}}{a"2}\1le 0 \\ a\times b \ge 10 \end{egnarray}
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\begin{eqnarray}
\cfrac{b_{2}}{a"2}\1le 0 \label{eq::const-1} \\
a\times b \ge 10 \label{eq::const-2}

\end{eqnarray}
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